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1 Given below are two statements:

Statement (I): Red yellow soils found in parts of Sawai Madhopur, Sirohi, Rajsamand, Udaipur and Bhilwara district.

Statement (II): Red yellow soil is suitable for the farming of groundnut and cotton.

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted

i a1 e fer e :

U (1): AT Wit el HaTs ATy, R, Tstawe, 3ea A dietaret i # fewdt o arg St 2
AT (I1): AT it el et S Fome 3t @it o forg v 2
ST FHHT o6 AT H, = fu 1 forepedt & & waffres 3uge S ol

(A) A (1) 3R HeH (11) ST T 2 (B) & (I) 3R e (11) ST &1 et &
(C) o (1) W& & Aok e (1) Terd 2l (D) A (I) TTeTd & Ao e (11) T 2
() SIgaiays
2 Mantha river merges in which of the following lakes of Rajasthan?
(A) Pichola lake (B) Didwana lake
(C)  Anasagar lake (D)  Sambhar lake
(E)  Question not attempted
FfoTliad = & o i ford siet | o et forer & St 82
(A) e sier (B) Sreamrsia
(C) AR gt (D) wRHA
() SIgaiayy
3 Which of the following statement is not correct about the winter monsoon of Rajasthan?
(A) A highly developed pressure centre to their north of the Himalayas impacts rainfall in winter.
(B)  Winds start blowing from oceanic high pressure area to terrestrial low pressure are causing rainfall.
(C)  Winds are dry due to their terrestrial origin impacting rainfall.
(D) In this period some winds bring rain after coming into contact with mediterranean cyclones.
(E)  Question not attempted
freaferfiaa & & 1 |1 o, TSR o YR 7ET & del § w72 22
(A) TemTer o S H ush Stefien fashfia gama sy afaat & awt s yeferd st 21
(B) WS 3= qolTd & § Tt o qeTa & oht 3T gaTE =e o &, fored st gt 2l
(C) Tt 3eqfel 3 HRUT TS Y[ Bl 2, foree aut yefrferd 2t 21
(D) 5 Al o Ga AT TRl 3 s 3 ST % s o e 3
(E) oFdia s

4  Fedwmfums:
AT - 1 : € AT 01 2
FHAT- 11 : 3 =T 3
3Uh Ul o AT | (TIRad foskedl # & @aifars 3ug Sk = -

(A)
©
(E)

Al7] 88

e [ 3 11 SH1 T 8 (B) U1 311 SHT 1A &
o [ 9 2, T o 11 31 2 (D) FFIEAT, fFqFA T8
FraRd g4

2

[ P.T.O.



5  ‘AGENDA’ frefafiaa # forg o1ef o ek &1 aTetT 3168 82

(A) |HIT (B) wEEW
(C) wrEgEt (D) M EuTE
(E) oFfdia s
6 AT AT IS, HETa o 37 o Terdt 3 forshe -
(A)  ST1ed (B) WA EMAT
(C)  &gd &= BT (D) I8 HgF
() SAgaiays
7 Fmfafed § 1 e 2-
a. Easll b. ERIE
c. R d. RSt
e.  HIUHA
A3 o o et & watfors wues s -
(A) Faet a 3T ¢ (B) Fae ¢ 3T e
(C) FHaddafrd (D) Facda,c3iNe
(E) oFfdiays
8 Where is Fullerene used?
(A)  In purification of natural gas (B)  In making electrodes
(C) In cutting rocks and stones (D)  In manufacturing of jewellery
(E)  Question not attempted
BRI T SULRT hal BT 22
(A)  ITRfeh T o e (B) 3SoiaIE & fAmiord
(C)  ZMT 3T e ol Hred (D)  Siatrd o fAmior o
(E)  oFdia
9 The reaction between an acid and a base is called:
(A) Neutralization reaction (B)  Catalytic reaction
(C)  Addition reaction (D) Dissociation reaction
(E)  Question not attempted
Teh 3TFeA 3R &1 o ity fifeha Feard 2
(A)  SerEieRToT SAfsrferam (B) 3 Afuferan
(C)  awTreHek Affsran (D) oS erfirfsrar
() Srgaiays

10 Which of the following events is not related to phenomenon of Refraction of light? (Choose the most appropriate
option from below)
(A)  The coin kept at bottom of a pot containing water appears raised
(B)  Appearance of Sun before Sun rising and after sunset
(C)  Blue colour of the clear sky
(D)  Formation of image by a lens

(E)  Question not attempted

e 1 TS o Tt EreAT SRt % S1e & Heifera 7 82 (e & werd vk foehed o)
(A) T S % T I T et S 33T g3t Wi gt 2
(B) Ubed ¥ veet I GATE o a1e & 1 fawertr
(C)  TIF SATRIM AT AT 1
(D) U g gRT Widteier 31 fmfor ()
(E) IraRduy
A17] R 3 [ P.T.O.




11 Raniganj coalfield is situated in

(A) Madhya Pradesh (B)  Jharkhand
(C) Odisha (D)  West Bengal
(E)  Question not attempted
T hiehiee o Reerd 2
(A) T IS (B) w@E
(C) snfesm (D) Ui s
(E)  oFdia s
12 Which of the following statement is not correct about the Khetri Copper refining plant?
(A) Itis an integrated Copper mining-cum-ore refining plant.
(B) It obtains copper ore from the Malanzkhand copper mines.
(C) ltis situated in Bikaner district of Rajasthan.
(D) Italso has a Sulphuric acid plant and a fertiliser plant.
(E)  Question not attempted
frfarRad st 8§ & 19 |1 e Tt a v | o gey | Tl 71 22
(A) I U TR qieT GH-H8- 35 I W 2
(B) 98 HASHAYE dlel GEH H, el 372%eh YTH HLdT 2
(C) I8 TSR o sfish foed § e 2
(D)  SEeh! Ueh TeIshla dlTel G 31T 3aieh |4 ot 2
(E)  oFdia
13 Which of the following is a brackish water fish?
(A)  Perch (B)  Pompano
(C) Loach (D) Rohu
(E)  Question not attempted
Frfefad 9 @ s € @ o 6t 7=l 82
A) = (B) AT
(€) @ D) T
(E) raRduy
14 Indira Gandhi Canal has been built on the following rivers :
(A)  Mahi and Chambal (B)  Son and Banas
(C)  Sabarmati and Parvati (D) Beas and Satlyj
(E)  Question not attempted
fear il et forer & @ fo Afeat qamd é &2
(A)  HE T = (B) EH U T
(C) dTeHdl ud it (D) =ATH UE A
() SFfdiaus
15 The state of Rajasthan produces around % of the total wool production in India.
TSTET TS WA H et Fef SCATE T ST fTd SeaTe LT 2
(A) 60 (B) 50
(©) 40 (D) 30
(E)  Question not attempted / ﬂﬁﬁﬁ 99

A17] R
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16 Which of the following is the name of a mobile application launched by Rajasthan Government for farmers?
(A)  Farmers Organic App (B)  Kisan Organic App
(C)  Rajasthan Farmers App (D) Raj Kisan Jaivik App
(E)  Question not attempted

frafefaa o & ferami & fou TeTeeT SR g IR foRT T dieget UrefteheT SRt AT T 27

(A) HMHE ATE UT (B) e Simifer U
(C)  TSTEA Sy TY (D) T ferEm Sifees wg
(E) oFfdiays

17 When was the first Agriculture Budget presented in Rajasthan separately? (Choose the most appropriate option
from below)
TSTET 5 ol T9H Y SS1¢ ST 6 U1 fopart 2 (et o & et Syeh forehed <)
(A) 2020-21 (B) 2021-22
(C) 2022-23 (D) 2023-24
(E)  Question not attempted / ﬂﬁﬁﬁ i)
18 TR wfrme:
HUT - 1+ T § Feffqot sy Frfet @veft 21
U - 11 : T, TTETHAT ST AraTt sht o AT Sreft 37 707 717 ST 2
S e STt & PR frkedt B & wa i S S -

(A) YT AR SHT T & (B) Y [ 3 11 SHT 3THT &
(C) U 1T &, fobeg oM 11 S8 2 (D) HF 1 EA &, T Fe [ HA 2
(E) raRduy

19 Given below are two statements:
Statement (I): The year 1947 was a year of unprecedented violence and trauma of displacement for India.
Statement (II): India was born in very difficult circumstances in 1947. Perhaps no other country had faced a situation
more difficult than that of India.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted

= a1 e fer o :

AT (I): WA o o1 1947 21 379 féa SR foreerfua fop ST arrer Safvena & si g )

A (I): 1947 H WA o1 0 ogd & Sifeet aiibafaa § gam o swarferd forelt o o1=1 a2 21 soit ffepct aftRerfaat @
T &1 E3AT SR SET 9 H g7 7]

ST FHHT o6 AT |, = fq 1 foepedt & & waffare 3uge S ol

(A) I (1) IR HYT (1) SHT T 2 (B) &Y (I) IR Y (1) SHT & TeAd 2
(C) e (1) Tt & A e (1) Tetd 1 (D) % (1) TTeTd & SAfeh e (I1) | 21
(E) raRauy

20 Which of the following state was carved out of Assam ?
(A)  Tripura (B) Meghalaya
(C)  Manipur (D)  Sikkim

(E)  Question not attempted

Frfaftaa & 9 forg T=a 1 /| § 9 37T T o ST =T o2

(a) B (B) TR
(C) HPME (D) fafrrm
(E) oFfaiays

A17] S8 5 [ P.T.O.



21 Which among the following was the major challenge India faced while building a nation state at the time of

independence?
(A) Poverty (B)  Resource Constraint
(C)  To establish democracy (D) Low level of Technology

(E)  Question not attempted

AT o A g TS o {07 3 SR ot TrAfetRad & fore g <=t 1 STeT 1 922

(A) el (B)  GHTeH i HH
(C)  Avehd shl TTIAT (D) Rt o1 f =)
(E) raRduy

22 ‘In Memoriam’ painting was painted by whom in 1859?
(A) Jone Borkar (B)  Joseph Noel Paton
(C)  George Paton (D)  Jone Kersia

(E)  Question not attempted

1859 9“3 HHIfy’ ArHes U~ forereh gry oATE T oft?

(A) ST (B) I A U
(C) SISt Yed (D) S YT
(E) orgaia s

23 The Mudaliar Commission was setup in 1952 to: (Choose the most appropriate options from below)
(A)  Study the allocation of resources between the centre and the states.
(B)  Study the demand for the re-organisation of states based on basic principles on liguistic basis.
(C)  Examine the condition of the secondary education system.
(D)  Formulation an industrial policy for an independent India.
(E)  Question not attempted
1952 T HafeTam STRINT 2l ST 2l 718 oft: (Fey # & ol Sugeh forehe <)
(A) 5 ST TSAT 3 sfie HOTEAT 3 ATee ol 3T L o oIy
(B) T % STET R TSAT o THISH shl HIT ohT 3eh AT TGl oh SATHT T 3L A o feag]
(C)  wTeafhes frear yomedt i fearfa st sifer o fag
(D) A 9 o fou sfienfires Aifa qan @ & fog)

() oFgdiays

24 The Punchhi Commission (2010) is associated with which of the following?
(A)  Center State Relations (B)  Abolition of Death Penalty
(C)  Reforms in Education (D)  Tax Reforms

(E)  Question not attempted

9Bt AT (2010) FrAferiad & & fored waifea 22

(A)  HE ST ey (B) TFIE IH
(C) Rreard gar (D) YR
(E)  oFeia
25 Who among the following was the first woman Deputy Chief Minister of Rajasthan?
(A) Diya Kumari (B)  Pratibha Patil
(C) Kamla Beniwal (D)  Vasundhara Raje

(E)  Question not attempted

freaferfiaa & & o, ToreerT 1 o Afger Su-ges off?

(A) e (B) v aree
(C) FHAT ST (D) SEIUTS
(E) IraRduy

A17] S8 6 [ P.T.O.



26 How many MPs are nominated in Rajya Sabha by the President of India?
AT 3 TS G TF qAT § foh= T&w (MP) =l BT f3ha ST 292
(A) 12 B) ©
© 18 (D) 10
(E)  Question not attempted / ?:ﬂﬂﬁﬁ EE
27 Which of the following does not correspond to an audio file’s valid extension?
feforfia o & =9 | AT Br5et o 94 ford & 1% el 82
(A)  .mid (B) .wav
(©) rar (D) .mp3
(E)  Question not attempted / ?:ﬂﬂﬁﬁ g4
28  Convert (101110), = (?),
{base 2 to base 8}
gf@fda Fifsg
(101110), = (74
(ST 2 T 3T 8}
(&) (56) (B)  @8),
©) @30 D) (20)
(E)  Question not attempted / 34@?110(6 T4
29 Which of the following is not a type of the printer? (Choose the most appropriate option from below)
(A) Inkjet Printer (B) Dot Solid Printer
(C) Laserjet Printer (D)  3D-Printer
(E)  Question not attempted

frefefiaa o & =i 1 fifet 1 forem =2t 22 (vt o & oo S forshed <)

(A) i fiie (B) e difere fiie
©) AT e fieX (Laserjet Printer) (D) 3-8t fiiex
(E) ordia

30 A batsman makes a score of 90 runs in the 17" inning and thus increases his average by 3. Find his average after
17" inning?
(A) 44 Runs (B) 38 Runs
(C) 40 Runs (D) 42 Runs
(E)  Question not attempted
T Feoiarst SOt 173 it § 90 T 1 TR STaT © e 3Rt offd 3 s Srar 81 173 It o 1e 36eR fed
RIS

(A) 4@ (B) 38%
(€ 40w (D) 42
(E)  oraia s

31 The income of Mr. Dhull and Mr. Hussain are in the ratio 7 : 4 and their expenditure are in the ratio 2 : 1. If each saves
% 10,000, then Mr. Dhull’s expenditure is:
#ft. oot S o, 8 T ST 1 ATA 71 4§ ST h1 S0 2 ¢ 1 21 A TR X 10,000 T =it L & at 2, et

FIATE -
(A)  %60,000 (B) %65,000
(C)  %70,000 (D) 75,000

(E)  Question not attempted / 34@?110(6 949
Al17 ] 88 7 [ P.T.O.



32 Fafafad vt & dfr-fomae w1 staeien @l Jmi ol Tea i)

a.  U¥% =Yfd+ Tk b. fEm=f+ar
c. HE=uq+Td d.  oTvged =AY + 35T
e.  HAEA =T+ 9

et fow T oot o @ waifere U I

(A) Fada,b,c3d (B) wadc,d e

(C) adc3Ne (D) ada, bR d

(E) raRduy

33 Microsoft Excel’s formula begins with .

ISR RIS T 3 W1 YE B 2

A) . B) =

(&N D) |

(E)  Question not attempted / 341?!'?(?{ e
34 Which one is a spreadsheet program in MS Office?
(A)  MS Outlook (B)  MS Powerpoint
(C) MS Word (D)  MS Excel
(E)  Question not attempted

=1 5 @ 1 T wHed SHifRE (MS Office) T Ueh TISTIE T 872

(A)  THTH SASCqH (B)  TH TH Il wTEe
(C) wugaE (D) THTH A
(E) raRduy
35 Which of the following is the theme of ‘Jal Shakti Abhiyan: Catch the Rain, 2023°?
(A)  Save water. Save Earth. (B)  Drinking water for all
(C)  Source sustainability for drinking water (D)  Save our water bodies. Save our planet.

(E)  Question not attempted

frfafad & @ <t wfh AR 9 3 W, 2023 1 forvereeg & € 22

(A) ST T - geat sl B) @t o foag ff= =1 ot
(C)  USTa o T g it foiaear (@eeAfaferdh) (D) AN ST fepma sTrmetl gAN U ol s=sft
(E) IraRduy

36 Which of the following statement is not correct about dry teak forests of Rajasthan? (Choose the most appropriate

option from below)

(A)  These forests are located in the southern and south-eastern parts of state

(B)  In these areas, annual rainfall varies from 150-200 cms.

(C)  Generally the height of the trees range between 9 to 13 meters

(D) Teak wood is commercially useful and used for making furnitures, panels of doors, windows and house
construction

(E)  Question not attempted

FrfeTRa & & I |1 o TSTEAT o T 21 o STl o 6e 1 ael 761 o7 (e § & e 309 forshed )

(A) ¥ ST, TS o gferolt et aferor-ue fewa # feord &)

(B) ¥ &= H arfiier awi gf¥ 150 & 200 T 7 Bt 2

(C)  TTHTIA §7 Jadt T $relTg 9 T 13 Hiet deh 2t 2

(D) ek Al TR T F & YA & T FHAT TN FrA 1ok M, TSI ol wrae, Ragfort 3R g frmfor &
BT 2l

(E) raRduy

A17] S8 8 [ P.T.O.



37 Given below are two statements:
Statement (I): Kanjar tribe is mostly found in Kota, Bundi, Baran, Jhalawar, Bhilwara, Udaipur, Ajmer and Alwar
areas of Rajasthan.
Statement (II): The head of the family is known as ‘Kotwal in Kanjar tribe.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
e 3 e lRw T E:
HAT (I): TS H o SIS AR Hiel, s, o, Fmars, WiareT, 3Ty, STt 3T STt 3arhi | 118
STt 21
AT (I1): HoT ST &, TG 3 T i RIdarer” o T § ST S 2l
ST FHHT o6 AT H, = fu 1 foepedt & & wafferes 3uge S o4l

(A) e (I) 3T A (11) ST et & (B) o (1) 3N A (I1) ST &1 TTerd &
(C) A (1) T & AAfehd e (1) TTerd 2 (D) A (1) TTeTd & feR e (11) Tt 2
(E) raRduy
38 Which of the following district has the lowest female literacy rate in Rajasthan according to ‘Census, 2011°?
(A) Ganganagar (B) Banswara
(C) Jalore (D) Barmer

(E)  Question not attempted

2011 T STRTOHT o S8R 11 & & Toreer o form et o it wneman i o e 7 22

(A) TR (B) dEdrST
(€) SR (D)  dmEH
(E) raRduy
39 Who has been appointed as the Advocate General of Rajasthan in February 20247
(A)  Praveer Bhatnagar (B) N.M. Lodha
(C)  Rajesh Kumar Gupta (D) Rajendra Prasad Gupta

(E)  Question not attempted

HLET 2024 H FopH TSR o HeTerehl o &9 4 Tk foram 22

(A) TR TR (B) . TH. el
(C)  TSIST FHR THT (D) TSI TS TTHT
(E) raRduy
40 Which ministry has introduced the Cinematograph (Certification) Rule, 2024?
(A)  Ministry of Agriculture (B)  Ministry of Commerce and Industry
(C)  Ministry of Information & Broadcasting (D)  Ministry of Law & Justice

(E)  Question not attempted

frfafaa @ fore oo gro =fes g (smmofisrtn) frrm, 2024 @0 fopar mm?

(A)  FNHITE (B)  STiUrST ST 30T HaArerd
(C)  E=T S TEROT AT (D) Taftr stk =g womer
(E) raRduy

A17] S8 9 [ P.T.O.



41 Sierra Leone in April 2024, declared a national emergency on the account of :
(A)  Zombie drug abuse (B)  Food shortage
(C)  Floods (D)  Political unrest
(E)  Question not attempted

1 2024 H, FreAfaRaa o @ foraes ot fawa foretia o s srrardehTet St =Siwom < 152

(A)  Sisft HTEh 5o T geqamT (B) @TIT sl &Ht
€ = (D)  THfde 3o -goret
(E) oFfdiays
42 SHRESHTA Scheme launched by the Ministry of Social Justice and Empowerment is associated with
(A)  Students (B)  Farmers
(C)  Army Personnel (D)  Tribes
(E)  Question not attempted
HTHTISTE =T 3 AR HATHT R I 6l 715 218 (SHRESHTA) TS 1 o 1Y T, 2
(A)  BET B) Tramr
(C) T Hiftfn (D) S
(E) oFfdiays

43 Given below are two statements:
Statement (I): The Chambal project is a combined project by the Madhya Pradesh State and the Rajasthan state.
Statement (II): Mahi power project is located close to Udaipur in Rajasthan.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
= 3 e fu e 2:
AT (I): T TRETSHT HET JexT T3 SR TSTEA T 3h1 Eh TSI 2l
AT (11): TTEY st TSI TSTeT & 3T o I feerd 2
S T 37 ATt i, 9t R ma frsredt i & wratfre g s

(A) A (1) 3R HeH (11) ST T 2 (B) A (I) 3T e (11) ST &1 et &
(C) &I (1) Tt & Ak e (1) TTerd 2l (D) U (1) TTeTd & AR e (11) Tl 7
(E) oFfdia s

44 Which of the following writs is issued by the supreme court to prevent an inferior court from usurping jurisdiction,
which is not vested in it?
(A) Mandamus (B)  Certiorari
(C)  Prohibition (D) Habeas Corpus
(E)  Question not attempted
freferfad & & i € fre Seaam =maTer R ST 6l ST 2, ST et STaTerd & =TTfRreni &5 o STTeh i Uskd! © qe
ST 3ok &R § e 72 2

(A)  TRHATT (B) 3o (wffaid)
(C) wfawer (D) & et
(E) raRduy

A17] S8 10 [ P.T.O.



45  Who among the following is not included in the committee constituted for the appointment of chairperson of the
National Human Rights Commission?
(A)  The Prime Minister (B)  The Chief Justice of India
(C)  The Speaker of Lok Sabha (D)  Leader of the opposition in Lok Sabha
(E)  Question not attempted

FTTia © § 9 TSR AT STRINT o STeet shi (e ot o foTq Tisd | | |frferd Tai 82

(A) et (B) IR o Hed =IrTeisr
(C) T o T (D)  SArwRET | foder o Aar
(E) raRduy

46  High Mobility Artillery Rocket System (HIMARS) is developed by which country?
(A) USA (B) Japan
(C) India (D)  China

(E)  Question not attempted

BTE Aiferferdt it Tehe fieed (HIMARS) o1 faemme fore 291 g foram 22

(A) FTWET (B) SMH
(€) wrd (D) ==
(E) oFfaiays
47  According to IQAir, which city has recently been ranked as the most polluted city globally in 2023?
(A) Dhaka, Bangladesh (B)  Pokhara, Nepal
(C)  New Delhi, India (D) Begusarai, India

(E)  Question not attempted

AT TR i (IQAir) % AFE, fora 7 2023 H wifersh St wret o1 o, o sret ! foarm mam 22

(A) BT, TATGIT (B)  OI&RT, quTeT
(©) 8 foeett, yra (D)  STTEE, R
(E)  oFdia s
48 Who was the first Chief of Defence Staff (CDS) in India?
(A)  General Bipin Rawat (B)  General Anil Chauhan
(C)  General Sam Manekshaw (D)  General K. M. Cariappa

(E)  Question not attempted
AR o 9T =% 1% fE%8 W6 (CDS) #2942

(A) SR fafs e (B) SRS A =eH
(C) STt & HIOIHIT (D) ST o, TH. Shiodr
(E) IraRduy

49 The State Information Commission submits its annual report to the-
(A) Governor (B)  High Court of the state
(C)  State Government (D)  State Legislature

(E)  Question not attempted

TSI T SHATAT T AR NS foheent e et &7

(A)  TSII (B) TS o S=d AT
(C) TSTAHR (D) TSF faumgues
(E) oFfdiaus

A17] S8 11 [ P.T.O.



50 Consider the following statements regarding delimitation commission in India and choose the correct answer from
the options given below:
Statement (I): Delimitation Commission Acts have been enacted in 1952, 1962 , 1971 and 2002 for fixing limits or
boundaries of territorial constituencies.
Statement (II): Its orders cannot be challenged in a court of law.
In light of the above statements,choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are true.
(B)  Both Statement (I) and Statement (II) are false.
(C)  Statement (I) is true but Statement (II) is false.
(D)  Statement (I) is false but Statement (II) is true.
(E)  Question not attempted
R | TTCA STRINT o e H, e ferfia eemmedl ot formm ahd g i fag T forshedi # & @t 3o a1 =12 hifu;
AT (I): TREHT ST HE 1952,1962,1971 3R 2002 7wt freife st 2 aptar forermrer sht ol feffa we
o foTe ferar T em)
AT (I1): 39 TR T =TT § AT Tl &1 S Hehell 2
ST FHHT o6 AT H, = fu 1 foepedt & & wafferes 3uge S <4l

(A) YA (1) IR HYT (1) SHT & T & (B) &Y (I) IR YT (1) SHT & TeAd 2l
(C) &I (1) T & Ak & (I1) TTerd 2l (D) U (1) TTeTd & AR e (11) T B
(E)  oFeia

51 Who among the following does not come within the jurisdiction of Lokayukta in Rajasthan?
(A)  Ministers
(B)  The Chief Minister
(C)  Members of services established by the act of Rajasthan State
(D)  Zila Pramukh
(E)  Question not attempted

TR o & i TSTET o SATHRIh o =TI & § T 31 87

(A) (B) HEIHAT
(C)  TSTEM UST % T S EMfUd sl F9ee (D) Tten @
(E)  oFdia
52 is a memory used to store data temporarily, whereas stores data permanently, which cannot be
altered or deleted.
(A) RAM;ROM (B) ROM; RAM
(C)  Compiler, ROM (D) RAM, Operating system
(E)  Question not attempted
Teh BT 2 fSrehT T 31enet bt el ®9 § Hed & foru. foran Sirar R, Steifen ST T 3Tehel
o Tt Eea o for foram s &, it for afafa = firere e < wed &
(A) m;Tm (B) T
(C) TSR, UH (D) T, AT fawew
(E)  oFeia
53 Hardware that is used to provide information, data and to control signals to a computer system from outside world is
called . (Choose the most appropriate option from below)
(A)  Output Device (B)  Secondary Storage Device
(C) Keyboard & Mouse (D)  TFT Monitor

(E)  Question not attempted

FPI TG T € TTERR Forereht ST aredt 3 & g Yo t, fishei iR fwret 1 FrRifd st o forg fopa
ST, o e - (B 2 8 Tt 37 Free )

(A)  IATITIE ITHT (B) kvl AU fearsd
(C)  welluee ud A1se (D) & . & Hife
(E)  oFeia

A17] S8 12 [ P.T.O.



54 What type of data structure is used to store a group of elements in a non-linear manner?
(A)  Queue (B) Tree
(C)  Array (D) Stack
(E)  Question not attempted

et A H dedi o wHE & SRl o foTe for Serm st Sfehier STeaT 1 ST form STTaT 22

A B) &
€ W (D) W&
(E)  oFdia
55  What is the name of the software used to perform specific tasks on computer by user?
(A)  Operating system (B)  Utility software
(C)  Artificial Intelligence (D)  Application software

(E)  Question not attempted

STANTERAT ST P W HeTied oy ST aret forfRre st # SR o ST aTet |ivearr 3 A1) 1 82

(A) AT foeem (B)  Ffeferdt dvearat
(C) emffhiyme sefasa (D)  UAiehI HIFaTR
(E)  oFdia

56 Where is famous Sela pass located through which road connects to Tawang?
(A)  Arunachal Pradesh (B)  Sikkim
(C) Assam (D) Meghalaya

(E)  Question not attempted

SToG, ST I el Ed & S T ohl HSh W ST 87

(A) TRV a7 (B) Taehm
(C) IE™ (D) HeETe
(E)  oFdia w
57 Karewas is .
(A) A folk dance (B)  Desert soil
(C)  Thick deposit of glacial clay (D) A group of trackers
(E)  Question not attempted
HET 2
(A) TEHASTH (B) el i
(C) Temmdi et furdt <t widt wa (Fram) (D) 3R 1 UF WE
(E)  oFeia

58 Identify the statement which is NOT correct about the Northern Plains of India?
(A) Tarai is a narrow belt ranging between 8-10 km parallel to the Shiwalik foothills at the break-up of the slope.
(B)  Tarai is a belt consisting of old and new alluvial deposits.
(C)  Bhangar is an old alluvial soil deposit
(D)  Khadar is a new alluvial soil deposit
(E)  Question not attempted
FfeTiad shei 5 & R o il HaHT & o € § ST o T2l 781 &, I6h! Tga hifeTd:-
(A) S Toh HoRt) gt & ST FRIafereh defedl oh SRR A1 G o 22 W 8-10 freft o heft g8 21
(B) IS S I YU STeAts el ol o areft ugt 2
(C) WK T Stette fgt sht et 2l
(D) WeT 7S Sedte gt i wd 2l
(E)  oFeia

A17] S8 13 [ P.T.O.



59 Choose the most appropriate English translation of the given sentence:

3T IS F7T oIS B
(A)  For no reasons, you sit here. (B)  For no reasons, you are sitting here.
(C)  You are unnecessarily sitting here. (D)  Without any reason, you should not sit here.

(E)  Question not attempted
60 Choose the most appropriate English word for-

ek ot
(A)  Decision (B)  Arbitration
(C)  Adjudication (D)  Authorization

(E)  Question not attempted
Read the passage and answer the questions that follow: (Que No: 61 to 64)

The end of human endeavour is happiness and contentment. The advancement of science has not been able to bring them

about. On the other hand, it has made our lives complex and crooked. We can see with alarm the unending war which science

is waging against literature and art. The realm of poetry is being conquered day by day. The soothing charms of Nature fly

at the cold touch of science. What a solace was there in thinking of the silently shining stars, the blessed candles of the night!

What comfort is now left to the average man to know that the stars are but so many burning suns and the rainbow of

Wordsworth, at the sight of which his heart leapt up with joy, a prism of colours! The cheer and the charm are gone and the

dull fact remains.

‘Science’, observes G.B. Shaw, ‘never solves a problem without creating ten more.” But art and literature are themselves the

solution to all our problems. All our worries leave us amid the Sounding cataracts of Wordsworth, the Skylark of Shelley

and the Nightingale of Keats. They are a rest to the weary, an inspiration to the discouraged, sunshine to the sad, and Nature’s

best antidote for trouble.
61 The cheer and the charm of all humans are gone because:
(A)  Science solves all problems
(B)  People don’t enjoy Wordsworth, Shelley, and Keats
(C)  Nature is the best antidote for trouble
(D)  Science fails to bring them satisfaction as it has robbed nature of its charm
(E)  Question not attempted
62 Identify most incorrect option from the following:
Art and literature helps us:
(A)  to solve all our problems. (B)  to give rest to the tired and bored.
(C) toprevent ourselves from trouble. (D)  to make material progress in life.
(E)  Question not attempted
63 The most appropriate meaning of the word ‘solace’ is:
(A)  Effort (B) Realm
(C)  Contentment (D)  Comfort in distress
(E)  Question not attempted
64 Match List-I with List-II:

List-1 List-II
Words Synonyms
a. Endeavour L. Dishonest
b. Crooked I1. Anything that prevents
c. Cataracts III.  Effort
d. Antidote IV.  Water that falls
Choose the most appropriate answer from the options given below:
(A) a-Lb-Il,c-1L,d-1IV B) a-lULb-Lc-1V,d-1I
(C) a-IV,b-Lc-I,d-1I (D) a-IV,b-ILc-1,d-1I

(E)  Question not attempted

A17] S8 14

[ P.T.O.



65 Red panda is main fauna of which of the following biosphere reserves?
(A) Nanda Devi (B)  Nokrek
(C) Dibru-Dibang (D)  Gulf of Mannar
(E)  Question not attempted

e ey, Frfafaa § & o wfard stamvee 1 aqg 22

(A) =Tt (B) ik
(C)  Tes-festim (D) W=IR T @t
() SAgaiayy
66 Jantar Mantars are located in these two cities - (Choose the most appropriate option from below)
(A)  Jaipur and Delhi (B)  Delhi and Gwalior
(C)  Jaipur and Agra (D)  Mathura and Jodhpur

(E)  Question not attempted

S 31 IR0 | ST A=l f8ord @ - (T 5 & we ST forehed )

(A)  SEAR TS fewedt (B) focett we mferat
(C) ST T ST (D) W T ST
() SAgdiayy

67 Given below are two statements:
Statement (I): Sansi is Nomadic tribe mostly found in Bharatpur district.
Statement (II): The two division of Sansi are Vija and Mava.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C) Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
it 3 e fag e 2
AT (I): TIET T FA] SIS &, ST 1o T A foiet & T8 STt 2
HUT (11): TiEY ST 3 < S @rem &1 ot g)
STUTH FHHT o AT H, =l Q1 forspedt & & waffare 3ug Sa ol

(A) A (1) IR HYA (1) SHT T (B) A (1) 3R Y (1) SHT &1 TeAd 2l
(C) A (1) T 2 AAfehd e (1) TTerd 2 (D) A (1) TTeTd & feR e (11) 9t 2
() SAgdiayy

68 Which of the following is a physical change?
(A)  Cooking of food (B)  Ripening of fruit
(C)  Dissolution of salt in water (D)  Formation of curd

(E)  Question not attempted

Freferfiaa o @ =i |1 ueh ifaes aiteda 22

(A) IS 9eRHET (B) Wl T YT
(C) T T AT H ST (D)  G&1 T ST
() SAgdiayy

A17] S8 15 [ P.T.O.



69

70

71

72

Match List-I with List-11:

List-I List-1T
Chemical Substance Application / Usage
a Bleaching powder L. Manufacturing of glass
b. Baking soda I1. Dental medicals
c. Washing soda III.  Purification of drinking water
d. Plaster of Paris IV.  Antacid
Gefi-1 Bt g=h-11 & gHfera hife
TEI-1 TE-11
NEIRIEER L] FATSART / ST
a.  ScllfeT 9T8eL I e o o
b.  dRRTHEET . &q fafeeEr
c.  aIRATHRET [L O S T 3ed
d. e 3T Ui V. TR
Choose the most appropriate answer from the options given below:
e few e fershedi o & wrarfferss 3ug ST I:
(A) a-Lb-ILc-1V,d-1I (B) a-ITLb-1V,c-Ld-1I
(©) a-1V,b-Ill,c-1I,d-1 (D) a-I,b-1IV,c-1I,d-1

(E)  Question not attempted / 3T EVRSE )
The multi channel TV programs can be seen directly at home through satellite by using a ‘Dish antenna’ without any

cable connection : (Choose the most appropriate option from below)

g Y. R, g forr fordt sharet-shaaeT o, =T 9T, Tesr Ufeam st ST o, SUUE gRT EieT @At R 2

(ﬁwﬁﬁwﬁmﬁﬁaﬂr%ﬁ)
(A) DNS (B) DTH
(C) C-DOT (D) CDMA

(E)  Question not attempted / 3‘1’:!3!'?(?{ e

If any object is thrown upwards with velocity more than 11.2 km/s from earth then the object will:
(A)  Go into space (B)  Revolve around the Earth

(C)  Return to Earth (D)  Revolve around the Moon

(E)  Question not attempted

3R forelt I T 1.2 kmy/s & 3720 1 & et & T 3 S bkt ITert 2, 1 g

(A)  3idfter § =it smort (B)  9eAl o AR 3T ekt Tart
(C) gt Wanfuw o1 st (D)  <EHT o AT AR TeFehL et
() oFfdiays

The main objective of ‘CHAUKA SYSTEM?’ of Rajasthan is to
(A)  Support Bee Keepers
(B) Increase Animal Husbandry
(C) Manage Water Resources in Water Stressed Regions
(D) Manage Food System in Rajasthan
(E)  Question not attempted
TSTEAT 1 et JUITe!” T T 3e94 ¢
(A)  HYHRE ATCTeh! I HEANT HEAT
(B) O] e T SiGTT
(C) Tt it W SUCTSHAT dTet &A1 | THT o TETEMAT b1 Jeie AT
(D) TISTEAT | SIS YUt T Jeer T
(E)  oFdia s

A17] S8 16 [ P.T.O.



73 ‘Taanka’ is a traditional technique common to the Thar desert region of Rajasthan.

(A)  Agriculture (B)  Rainwater harvesting

(C)  Animal Husbandry (D)  Agro Industrial Work System
(E)  Question not attempted

TSR o 9 AR &5 8 ST o foTT “zr=hr Uk T dehieh 2

(A)  FHE (B) =l S W

(C) U ueH (D) Y ST s SoTett

() SAgaiayy

74 The percentage of area under cultivation in Rajasthan is around

(Choose the most appropriate option from below)

ST § Gl 3 &1 T THIT SfeRTa 81 (1 & & He 39 forehed o)
(A)  45% B) 51%
C)  55% D)  60%

(E)  Question not attempted / ﬂgﬁﬁﬁ EE)
75 FRfaRad § § H9-8 38 YU % qAiaaTH 30 TE 82

a. B b. T

c. EIE3 d. ot

e. T
et fow e oottt § & Taifares ITg 3T T S IS
(A) Hada3b (B) ad b3 d
(C) adc3ANe (D) aad3iMa
() SAgaiays

76 TRIHIRRTTUE:
AT - T : 55 THTE o &1 U&1 o sfi= JATsfeh foIg sl T Erell 2
U - 11 : e, &, w7k, 5o, I 311fe Tl oht ehe i ATl YTeal & STRT FaeTeh frg ot ST B 2
IUh I o STl | (HTARad foshedi # & @aifers 3ug Sk 1 -

(A) YT IR SHT acT & (B) &Y I 3 11 SHT 3THT &
(C) FFIEAE, fhqFu Il sEA T | (D) FFIEAT, fFgFaA TR
(E)  oFdia
77 Choose the most appropriate style of writing the subscription for a formal letter:
(A)  Your’s obediently (B)  Your obediently
(C)  Yours obediently (D)  Yours’ obediently

(E)  Question not attempted
78 Change the direct speech into indirect speech by selecting the most appropriate option :
He said, ‘I am quite a good cook and I do all my own washing and mending too.’
(A)  He said that he was quite a good cook and he did all his own washing and mending too.
(B)  He informed that he is quite a good cook and he can do all his own washing and mending too.
(C)  He said that he is quite a good cook and he does all his own washing and mending too.
(D)  He said that he is quite a good cook and he did all his own washing and mending too.
(E)  Question not attempted

A17] S8 17 [ P.T.O.



79 Which of the following is not a procedural language?

(A) FORTRAN (B) COBOL
(C)  Pascal (D) PROLOG
(E)  Question not attempted

frfafaa 5 @ s v framees T 22

(A)  HRZH (B) et
(C) UT=he (D) T

() SAgaiays

80 Which of the following organization functioning under the Ministry of Statistics Planning and Programme
Implementation, Government of India conducts five yearly surveys of employment and unemployment?
(A) NSS (B) NSSO
(C) NSSA (D) SSpP
(E)  Question not attempted

AR TR o HIReIhT, ATSHT Uel ShishH shiai=aa BT o 31efi feferfiad o & 19 |1 e TSI ST R-TSTTR 36T

YT TERT0T AT 27

(A) TATHTH (NSS) (B) TATHTHHAT (NSSO)
(C) TATHTHT (NSSA) (D)  THTHdT (SSP)
() SFgdiays

81 What is the total income of the country divided by its total population called? (Choose the most appropriate option
from below)
(A) National Income (B)  Per Capita Income
(C)  Gross Income (D)  Net Income

(E)  Question not attempted

Torelt 21 oh1 5t 3T ol ol et SITEGAT § FersITIoT ot STH &I aTe ToTTH T e - (R 5 9 Her 30w forshed =)

(A) T (B) vt =afe a1
(C) T A (D) FA A
(E)  oFdia

82  From which of the following funds all expenditure of the Government is incurred and no amount can be withdrawn
from it without the authorisation from the parliament?
(A)  Contingency fund (B)  Consolidated fund
(C)  Public Account (D)  Private Account

(E)  Question not attempted

Ffafad # & fore fftr & e o @il =21 FoFT ST & 31T ©8r o WAk o forT s @ i3 TR STTefid & i <1

et 82

(A) AT EeRdT ey (B) wHfeRa ffer
(C) ok o (D) T
(E)  oFeia

A17] S8 18 [ P.T.O.



83 Given below are two statements:
Statement (I): At the parliament of Religions held at Chicago in 1893, Swami Vivekanand made a great impression
on people by his learned interpretations. The keynote of his opening address was the need for a healthy balance
between spiritualism and materialism.
Statement (II): In 1897, he founded the Ram Krishna Mission. The mission stands for religious and social reform.
He was a great humanist and used the Ramakrishna Mission for humanitarian relief and social work.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
e 3 e lRw T E:
AT (I): T 1893 H RIANT H U enifiler €@ o1 SATAISH foham o) Tt foreehia = 37 forgar oot s & Suféerd
AT % HYT TEL JHTE STl SFoh G HI0T o6 e fofg o foh srearenare S wiifashae o sfter Toh Toreel Sqer st
HTITIHAT
AT (11): 1897 H 3701 T 0T FErT ohl TITomT ohl| Forere entfifeps 31T GTTioren G hl ST s 8 98 Uah WeT HiadTaral
o 37 I TR FRT, T ST T ST W S ST HTHTISTER it o forg fomam)
ST e o Tl 4, A=t fow e foreredi o & waiferes I9g S|

(A) A (1) I HYA (1) SHT T & (B) A (1) 3 A (1) SHT &1 TeAd B
(C) e (1) T2 & Tifehd e (1) TTerd 2 (D) % (1) T & ifeh e (I1) |2 2l
(E)  oFdia s

84 Who formed a women’s regiment in the Indian National Army in 1943?
(A)  Mahatma Gandhi (B)  Sarojini Naidu
(C)  Jawaharlal Nehru (D)  Subhash Chandra Bose

(E)  Question not attempted

1943 T 3fveam Avmer it 7 wfeer Wme it wemaa fraa it off?

(A)  wETcHT et (B) wUfSHT g
(C) AT A8& (D) gUTEREE
() SFgaiays
85 Who was the first novel and drama writer of Rajasthani? (Choose the most appropriate option from below)
(A)  Shiv Kumar Bhartiya (B)  Shiv Chandra Bhartiya
(C)  Nemi Charan Bhartiya (D)  Devi Charan Bhartiya

(E)  Question not attempted

TSTETHT U= S AT o TUH e i 42 (e § & wardl 3ugh forshed =)

(A) TaFAR IR B) Ta =z vy
(C) it =or YR (D) <t =T YR
(E) oFdia s

86 Allah Jillai Bai, a famous folk artist is well known for:
(A) Kurja singing (B) Mand Singing
(C) Dance (D)  Folk Drama
(E)  Question not attempted
TR SIS oITS, Toh T4, Tieh heleh & ST % for STt STl 2
(A)  F R (B) Hig R
© T (D) @i 1w
(E)  oFdia s

A17] S8 19 [ P.T.O.



87 Which fair of Rajasthan is called the ‘Kumbh of the Tribals’?
(A)  Beneshwar fair (B) Karni Mata fair
(C)  Sheetla Mata fair (D) Kapil Muni fair
(E)  Question not attempted

TSTEAT ST -8 HAT TSTEATHT SIS 3h1 P Shaara o2

(A) SO T (B) St OTdT AT
(C)  Sftqar aTaT Helr (D) U Jf T
(E)  oFdia s
88  During whose reign, a folk drama ‘Tamasha’ started? (Choose the most appropriate option from below)
(A) Mabharaja Pratap Singh (B) Mabharaja Sawai Singh
(C)  Maharaja Maan Singh (D)  Mabharaja Jai Singh

(E)  Question not attempted

Frmferfiaa 5 @ forereh ATaeRIeT | “THTIT Tk Tieh A1 3% foham T (e o | Herdl 3Uh forehed )

(A)  HERIST yaTy fig (B) HEWIST H4Ts fiE
(C) weEwrST HH fé (D) HEWIST 5 foE
(E) raRduy

89  frmferfiaa o wrsmy siersh 31eaF o1 Ush TR T 2
(A) TqEEE B) fregar==®
(C) feumars® (D) HIATEH
(E)  oFdia

90 TR AR LA ST fehed iy g8 o e
7 1 1 ferer forsieror et wrinT fopar T 22
(A)  TUTETE T (B) EEIETE fawISOr
(C)  ufeaToTeierss farreor (D) G forgryor
(E)  oFdia s

91 If the following words are arranged in the sequence which they occur in the dictionary then which of the word comes
in the middle ?
1 37eat B auTtsEn H stk i 3 wer weg 3 Aife
Electric, Elector, Elect, Election, Electrode
(A)  Electric (B)  Electrode
(C)  Election (D)  Elector
(E)  Question not attempted / 3‘135'1'?{?[ i)

92  Find the missing number (?) from the given alternatives.

i fow e forereat & & (2) T o foTw T o1 == i

8 7 7
6 8 10

(A) 50 (B) 48
(©) 46 (D) 64
(E)  Question not attempted / 341?!'?{?[ EE)

A17] S8 20 [ P.T.O.




93 If Q means “+ *°, I means “ x *’, T means “— " and K means “ + "’ then
gieQarerd«+ >, J wmraref x> T dwraqd« - MK Hr31ef « + » FEATR, a9
30K2Q3J6TS5=?

(A) 103 (B) 35
(€ 38 (D) 28
(E)  Question not attempted / 3133?!'?{?[ aq

94 Which of the following option is different from others?
frfefiaa # € &9 a1 faees o= o+t § st 22
(A)  (5,18,4) B) (9,22,2)
©) (7,56,4) D) (9,30,6)

(E)  Question not attempted / 3‘1’:!)?!'&?[ BES
95 Rearrange the unorganised letters given below to create meaningful words and then choose, one of them which is

different from others ?

T 7768 T o oY STAANET ST&R hl AT HITST TR o U IRT § § 1T 3768 T =2 it

a.  DIAFRY b.  STEUDYA
c.  DHAIOLY d.  ANDMYO
(A) a B) b
© ¢ D) d

(E)  Question not attempted / ﬂaﬁf{?f EE)

96 P, Q, R, S and T are sitting on bench and all are facing towards north. P is sitting next to Q, R is sitting next to S, S is
not sitting with T and T is on the left end of the bench. R is on the second position from the right. P is to the right of
Q and T. P and R sitting together. In which position P is sitting?
(A) Between Qand S (B) Between Q and R
(C) BetweenSand T (D) BetweenRand T
(E)  Question not attempted
P,Q,R, S HR T & W oS g A Hefohl H@ I ! O 2l P, Q *F WA S3T&. R, S o &1 3T &1 S,T o &1 & o131
TSI s o g R oX 81 R 314 & gL T W 8l P, Q 3R T o a4 <137 &1 P 31K R U €19 943 €| P fopwreh 3ieh offer
FaTR?

(A) Q3RSHd=H (B) QU3RR&=H
(C) SIMTHA=H (D) RIMTHA=H
() Srgdiays

97 The height of banana tree and lemon tree is same. Mango tree is shorter than plum tree. Guava tree is smaller than
mango tree but bigger than banana tree. Find out which is the tallest tree?
(A) Lemon tree (B)  Guava tree
(C)  Plum tree (D)  Mango tree
(E)  Question not attempted

et SIS o Ug oht HalTg T 2| IATH hT UG SIS o U U DI 8] IHES T U AT o Ug U DI & T hed % UG
EESHEECESECEIERIERINEAIET

(A)  Hgweg (B)  3THES HIUS
(C)  ATITERT 1 U (D) FAHHUE
(E) oFfdiaus

A17] S8 21 [ P.T.O.



98

929

100

101

102

Given statements to be true even if they seem to be at variance from commonly known facts , then decide which
conclusion would follow on the basis of given statements.
Statement : No number is a digit.
All digit are fractions.
Some fractions are integers.
Conclusion : 1. All fractions can never be numbers.
I1. Some integers are definitely not numbers.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Only conclusion I follows (B)  Only conclusion II follows
(C)  Both conclusion I and II follows (D)  Neither conclusion I and nor II follow

(E)  Question not attempted

3T9eR! fIT T AT Bl Hed AT 8, 9ol 1 3 = J1d a2 & f3=1 Iefid 21d 8, 77 wRe sia-ar e fou 73 sheri =t

TfeheR F9 & SO T 2
HAT: hTs o HEAT 37 LT 2
auft 3 we &
FS @S I 2
Trem: | oft @ et oft w7 2w
11 % quiter fafia &9 & dead 72t 8
ST FHUAT o AT 8, i e e forepedt & & waffare suge o =)
(A) A e [ STTEET L 8 (B) hact e [1 T8 T 2
(C) ST feed [ 3 11 STET0r & B (D) 7 fee [ 3 7 frreed 11 378 & 2
(E)  oFeia

A lent % 600 to B for 2 years and ¥ 200 to C for 4 years on same simple interest. He received all together from both,
% 100 as an interest. The rate of interest is

‘A’ B’ IR 600 31 AN o fAT 3R C %1 X 200 AR A o6 FIT FHI HTEROT 4TS W Q) I41 6 36 %A X 100 A
ITH 3T SATSH-8X J1 Shiferg|

(A)  10% B) 5%

©) 4% D) 8%

(E)  Question not attempted / ?:ﬂﬂﬁﬁ EE)

When a commodity is sold for ¥ 69.60 there is a loss of 25%. The cost price of the commodity in T is:

el Ueh Eq %1 X 69.60 T ST SITAT & Al 25% BT+ Bleil 21 o] T T Hol &9 H o1 22

(A) %9280 (B) ¥88.80

(C) 394.80 (D) %90.20

(E)  Question not attempted / ?:ﬂﬂﬁﬁ EE

Choose the most appropriate word to complete the given sentence:

If you a skeleton in the cellar, don’t mention it to anyone.
(A)  will find (B) find
(C) founded (D)  will be finding

(E)  Question not attempted
Choose the most appropriate meaning of the idiom given below:

His eldest son, a spendthrift, is a thorn in his side.

(A) A constant source of annoyance to him (B)  Anasset
(C) Having a disease (D) Isin a painful condition

(E)  Question not attempted

A17] S8 22 [ P.T.O.



103 Complete the given sentence by choosing the most appropriate response from the options given below:

He was reprimanded his teacher for biting his nails.
(A)  for (B) by
(©) in (D) to

(E)  Question not attempted

104 When the government spends an amount equal to the revenue that it collects, it is known as a:
(A)  Deficit Budget (B)  Surplus Budget
(C) Balanced Budget (D)  Equal Budget

(E)  Question not attempted
ST TR 36k FIT TR TSTEd o Sier U7 o2 AT &, 38 el ST &

(A) TR F A (B) ey s
(C) e e (D) EHM S
(E)  oFeia

105 Who among the following is the author of the’General Theory of Employment, Interests and Money’, regarded as
one of the most influential books of the twentieth century?
(A) Robert Lucas (B)  John Maynard Keynes
(C) Kenneth Arrow (D)  Friedrich Hayek
(E)  Question not attempted

frfofiaa # & i TSR, STt Ud 31 o @ fagia, qeden o o@eh & ot 204 Sravsdl ot et stferer srersmeft

e THT ST 87

(A) T gFE (B) S HTE I
(C) Hf=gwh (D) e el
(E)  oFdia

106  Given below are two statements:
Statement (I): The British announced just before India gained independence that the British Crown’s Supreme
authority over princely states would not obligate upon the end of their authority.
Statement (II): The British government took the view that all these states were free to join either India or Pakistan
or remain independent if they so wished.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (IT) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

= a1 e fer o B:

AT (I): TR hT T 8 T Teed, IS I SR A SO 6T 715 off foh R T 39k T o TH B T TSl
S GHTH & &)

HAT (11): SIS T T I TR 9T T TATS 10T it & <18 a7 R AT Iifehear H et &1 ST A7 {3791 Toas
AT ST |

ST e o AT H, A< g 1 et #§ & aaffaes sugw IO TH|

(A) A (1) 3 e (11) ST T 2 (B) & (I) 3T e (11) ST &1 et &

(C) &I (1) Tt & Ak e (I1) TTerd 2l (D) YA (1) TTeTd & AR e (I1) w2

() SAgdiayy

A17] S8 23 [ P.T.O.



107  Given below are two statements:
Statement (I): Bairath is situated in Jaipur district. It has been a very developed place during various eras.
Statement (II): It was the capital of Matsya Region during the Mahabharata period. Stone plaques of samrat Ashoka’s
period have also been found.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

= 31 e feg e €:

HUF (1): F3, SR et 7 feoret 21 718 fafvre= o1t o6 S wer arga & forehfra s @ 2

HAT (I1): TE TR HTeT o SR T &5 ohl TSTENHT 9T| THTE 3TNk o shiet shi f3rer ufgepmd off T=f freft 2)
SUIeh shef o STedteh |, i faU T fershedi # | warffares Sug Sat Hl

(A) e (1) 3 A (11) ST et & (B) o (1) 3 e (I1) ST &1 TTerd 2
(C) e (1) T2 & Tfehd e (1) TTeTd 2 (D) % (1) T & ifeh e (11) |2 2l
(E)  oFdia w

108 In 1453, who seized Mandor from Marwar and married his son Raimal to a princess of Marwar.
(A) Maharana Kumbha (B)  Maharana Mokal
(C) Maharana Lakha (D)  Maharana Simbha

(E)  Question not attempted

T 1453 H, fope HER 1 ARETS | shoslT [T o7 S 319 T T 1 fodTe AETS i TSTpAT § foram om?

(A)  HERIOI FHFT (B)  WERIVT Hishel
(C)  HERII TEn (D)  HERTOT few
(E)  oFdia s

109  Which fort is called ‘Sonar Quila’ or ‘Golden fort’?
(A) Jalore fort (B)  Gagron fort
(C)  Jaisalmer fort (D)  Amer Fort

(E)  Question not attempted

freforfaa & @ forer forct a1 @A forcr o “waof fohetr o 919 & STHIT STTeT 27

(A) SR e (B) TR TR
(C) S fhe (D) AR foher
(E)  oFdia

110  What will come in place of question mark in the following sentence?
<fit 21 TS 2ot 7 e foreg o T O R ST
MOUSE : KPSTC : : LIGHT : _ ?
(A)  MIHIV (B) JJEIR
(C) MGHFV (D) JGEFR

(E)  Question not attempted / 3T e

A17] S8 24 [ P.T.O.



111  Figure (i) and (ii) are related in a particular manner. Establish the same relationship between (iii) and (iv) by selecting
a figure.
Which figure would replace the question mark in fig.?

AT (i) A (i) Th GHL A 0o ferfme olier & weiferd €1 3Trebfer (iii) 3T (iv) 6 sfter G Hefer wfuq s o fore smepfa
T T L ST 9 o (?) o T W ST

BIO|©)]?

(O] (i) (iii) (iv)

() ®)
© (D)

(E)  Question not attempted / 3T e
112 Which of the following is the first state in India, that has made rainwater harvesting structure compulsory to all

the houses?

(A) Rajasthan (B)  Gujarat
(C) Tamil Nadu (D) Odisha
(E)  Question not attempted

freaferfiaa & & vy & wevem fore g |, @it o | a9t Ster STETor §TEHT o 3Terdeh s feur e 22

(A) TSR (B) TSUd
(C) dfrerTg (D)  ffem
(E)  oFeia w

113 When did the Simon Commission arrive in India?
T | TTEH STRINT e 3TFT?
(A) 1925 (B) 1928
(©) 1930 (D) 1932

(E)  Question not attempted / 3T ERSE )
114 FrEEEr § Si-91 7918 22

(A) TR (B) wgsllle
(C) %% (D) FHURT
(E) raRduy

115 g% § 309 &-
A) 3 (B) 9
© = (D) 3
(E) SFgaiays

116 T 362 H T 2-
A = (B) =&
© uw O =
(E) oFfdiayy

117  Find the number of coins, if each coin is 2.5 cm in diameter and 0.2 cm thick, to be melted to form a right circular
cylinder of height 10 cm and diameter 5 cm.

afe wifer fereh o1 = 2.5 Tt 3T AT 0.2 Tt Y Uok vl i e fSraeht S5emg 10 St o7 S 5 T, Y S o
foRa ferht <Rt ferereTT g2 geht Hea Jra shifsu)

(A) 50 (B) 100

(C) 200 (D) 250

(E)  Question not attempted / 3‘135'1'?{?[ i)

A17] S8 25 [ P.T.O.



118 Internal length, breadth and height of a rectangular box are 8 cm, 6 cm and 4 cm respectively.

How many boxes can be packed in a cube whose volume is 6144 cm’ 2

Teh STIATHR fgssl i TraITs, TeTs SN HaTS shAsT: 8 cm, 6 cm 3T 4 cm Bl 6144 cm’ ATIGH & 7 1 foha fesel 9o

(erpforan) g2
A) 32 (B) 36
© 28 (D) 34

(E)  Question not attempted / 3T e
119  If the word “MATHEMATICAL” is spelt with “N” in place of “MA”, then the percentage reduction in the number

of letters, is:

“MATHEMATICAL” ¥1s § Ifd “MA” o TIF W ‘N’ forar Sire v 37eq0 hY dwan | foha ufaera st eamafto
2

(A 20% (B) 165%
2

©) 155% (D) 16%%

(E)  Question not attempted / 3T e

120  The speaker can ask a member of the House to stop speaking and let another member speak. This Phenomenon is

known as:
(A) Decorum (B)  Crosssing the floor
(C) Interpellation (D)  Yielding the floor

(E)  Question not attempted

FAFET STeet ot off §ae il Slie § Jeh WehdT & ST GHL Ua il dii shi STFAIA T 81 38 T2 1 STHT ST @ -

(A) Tl (SHRH) (B) RT3 FAR
(C) = BT (3XfUeiz) (D) ffgnzwr
(E) oFfdia s

121 To protect monuments, places and objects of artistic or historic interests, which are declared to be of national
importance is included under Constitution of India under-
(A) Directive Principles of State Policy (B)  Fundamental Duties
(C)  Fundamental Rights (D)  Judical Review
(E)  Question not attempted
T, T ST FHcTTersh aeqall AT UfaTireh Hecd o Tl ol GUerd W o 78 3w TSI Hecd T Gt (9 TR0 & I8
I e # frefafaa & o foremt affafoa

(A) TS & Fifa Fewes fagia (B) eI shded
(C) ifas saferer (D) =R f=m
() SFgaiays

122 Which of the following bank was setup in 1982 by the Government of India, to address the issues of setting up of the
banking institution in the rural areas?
(A) NABARD (B)  Reserve Bank of India
(C)  Central Bank of India (D) SIDBI
(E)  Question not attempted

I TR GRT UTHIOT SeATehT | SifeT eI ol ToIToT o o 3239 =g 1982 # e § & forwr ek wieerm sht wmoew

Teram am?

(A) TTETE (B) W fieid S
(C)  Hge sfeh 3T gfean (D) foesht

() SAgaiays

Al7] 88 26 [ P.T.O.



123 A mass based organisation MKSS took the initiative in demading records of famine relief work and accounts of
labourers was first raised in which state?
(A) Bihar (B) Odisha
(C)  Uttar Pradesh (D) Rajasthan
(E)  Question not attempted

Toh S AT TS TH o T TH (MKSS) %l Teel 0 SehTel Ted il 3T ASIGl o Wil shi 7T <61 e T ger fohdt Ts2

T 33T T 412

(A) for (B)  effem
(C) IWYT (D) TSEIH
(E)  oFdia

124  On 6™ November 1943, Premier Tojo announced that Japan had decided to hand over some islands to the provisional
Government of Azad Hind. Which islands were those?
(A)  Coco Islands (B)  Lakshadweep Islands
(C)  Andaman and Nicobar Islands (D) Maldives
(E)  Question not attempted

6 TSI 1943 I, STAT @ ST = S0 <6, foh SITAT = 3 101 bt 3TTSiTe feia st Sfaie aenr shi Fiad =1 fof form
HRFEEEERY

(A) IR (B) @eIET E9
(C) ieH AR Feper 0 (D) HIASE
(E)  oFdia w
125  Choose the most appropriate sequence of articles to complete the following sentence:
Itis pleasure to do business with such efficient organization.
(A) _ ,aan B) , ,an
©) a ., D) a,_ ,an

(E)  Question not attempted
126  Choose the most appropriate passive form of the given sentence.
I don’t like people telling me what to do.
(A) Idon’tlike being told by the people what not to do.
(B)  People are being telling me which I don’t like
(C) Idon’tlike what to do by the people.
(D) Idon’tlike being told what to do by people.
(E)  Question not attempted
127  Choose the most appropriate passive form of the given sentence:
I didn’t realise that somebody was recording our conversation.
(A)  Our conversation was being recorded and it wasn’t realised.
(B)  Somebody was recording our conversation was not realised.
(C) Ididn’trealise that our conversation was being recorded.
(D)  Our conversation was being recorded by somebody.
(E)  Question not attempted
128 Identify the word that can best substitute the given expression:
A state of worry or general unhappiness.
(A) Dyxpraxia (B) Dysphoria
(C)  Dystrophy (D) Dystopia
(E)  Question not attempted
Al17 ] 88 27 [ P.T.O.



129  Who among the following is known as the father of Green Revolution in India?
(A) M.S. Swaminathan (B)  Verghese Kurien
(C)  Hiralal Chaudhary (D)  Sam Pitroda
(E)  Question not attempted

frefefaa § & fre e § =it shifd o1 St 7T ST 22

(A) . TE QA (B) e i
(C) BN =edy (D) &u fiEar
(E)  oFdia

130  What percent of the Indian population was dependent on agriculture for their livelihood at the time of independence?
(Choose the most appropriate option from below)
(A)  About 85% (B)  About 75%
(C)  About 65% (D)  About 60%
(E)  Question not attempted

T o AT WA b1 Tt TR e 7ot Trsiforaht o o i ox fsde oft? (et o & wrert Sopehs forse 1)

(A)  85% T (B)  75% <
(C)  65% T (D)  60% T
(E)  oFeia

131 “Blue Revolution” is related to: (Choose the most appropriate option from below)
(A)  Fish production (B)  Fruit Production
(C)  Flower Production (D)  Milk Production

(E)  Question not attempted

“freft shifa waifera : (et o & wordt SwIeh forehed <)

(A) TSl ST o (B) W ST H
(C) FAIERTH (D) FEIUEAH
(E)  oFdia s
132 Which problems are being faced in human capital formation in India?
a. Rising population b. Brain drain
c. Deficient Manpower planning d. Low Academic Standards

Choose the most appropriate answer from the options given below:

(A) aandbonly. (B) bandconly.
(C) a,bandconly. (D) a,b,canddall
(E)  Question not attempted

TR H e Ot fmtor & o o e o @

a. Gl SHEE b. i T
c. Iy SR RS d. e eafors A
et faw o foreredi o & warfferes 3ag ST -
(A) SHada 3D (B) adb3iRec
(C) FHacda, bR c (D) a,b,c3 daft
() SAgdiayy
133 The starting point of Indira Gandhi Canal is in the state of:
(A) Haryana (B)  Punjab
(C) Rajasthan (D)  Uttar Pradesh
(E)  Question not attempted
St wrieft et it e foig o T 7 22
(A) =@ (B) U
(C)  TSTEIH (D) ST
() SAgdiayy

A17] S8 28 [ P.T.O.



134  The Jawahar Sagar Dam is on which of the following rivers?

(A)  Satlyj (B)  Sabarmati
(C) Bandi (D) Chambal
(E)  Question not attempted
SETEL " sy et § 9 T 7et w2
(A) FAS (B)  HrerHd!
(C) diar (D) &
(E) IraRauy
135 Animal Husbandry contributes around share of agriculture sector in Rajasthan.
(A)  1/4®h (B) 1/3d
(C)  3/4th (D) /5t
(E)  Question not attempted
TSI H Y &7 5 UF] 9T 1 T fewt 1 e 21
(A) 1/4d9 B) 134
(C) 3/4di (D) 154
(E) oFdia s
136 In which fort Kishori Mahal, Mahal Khas, Kothi khas, Jawahar Burj and Fateh Burj located?
(A) Lohagarh fort (B) Jalore fort
(C)  Jaigarh fort (D)  Junagarh fort

(E)  Question not attempted

forwr fopet & foriitY e, Heet @, 13! W, STt 3t 31 e o[t feerd &2

(A) drenTe fohet (B) WA fohem
(C) <wTe fekaT (D)  SFTE fohet
(E)  oFdia s
137  Which Regiment of the Indian Army did Major Shaitan Singh belong to?
(A) Dogra Regiment (B)  Bihar Regiment
(C)  Madras Regiment (D)  Kumaon Regiment
(E)  Question not attempted
TSR ST i Wt &7 i forer Tsrie o6 92
(A) SN B) forerifome
(C) g i (D) TS e
() SFgdiays

138  Given below are two statements:
Statement (I): Agrarian movements of Rajasthan before independence were led by non-farmers.
Statement (II): The movement in the Ganganagar area was led by Y.N. Handa, a Communist leader.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
TR (I): SATSTE! § T8 TS o Y SFTRIAHT b1 ~Aqedl -TohamT = fora e
U (11): TR &35 o TG ohT cd U HRYES T oS, TH. BIST o gRT [T 1|
SUIh HI o AT H, A U 1T foepedi # & watferes Iuge S oM

(A) A (1) 3R FHeH (11) ST T 8 (B) & (I) 3R e (11) ST &1 et &
(C) e (1) T&l § ATk e (I1) Teld &l (D) A (1) TTeTd & AT e (11) Tl 2l
(E) raRduy

A17] S8 29 [ P.T.O.



139 Fwfafeaa # 3 e -

a.  ATIEAAN b. B IE FEH UG 2
c. o€ IIUHE ¥ 9IE ¢lie A d. % 3% S HLT 2l
e. I AU I ¢l
it fow T forshedt | | HaTtlRreh SwIh I I
(A) Haab3Md (B) waca AN c
©) Fadl ¢ 3T e (D) Fad a 3T e
() Srgaiays
140 wferem o forg sT=ae & i v o o wel S-S o for stterwerek e e g 22
(A) ITTT 243 (B) ¥1T=e 351
(C)  3FF=eq 281 (D) 3T 363
() SAgaiayy
141 C is the mother of A and B. If D is the husband of B, then what is the relation of C with D?
(A) Sister (B) Aunt
(C)  Mother (D)  Mother-in-law

(E)  Question not attempted

C, AR BHIAMII g D, B ufd 2 d1 C 1 D § 1 Heier 22

(A) & (B)  Hid/=m=h
() =t (D) @@
() SAgaiays

142  In certain code “FROZEN” is written as “OFAPSG”. Then, how would “MOLTEN” be written in that code?
fopell s W “FROZEN” %! “OFAPSG” foim SITdT &1 df 3T e A1 # “MOLTEN” =1 ¥ fora sarm?
(A) OFUMPN (B) OFUPNM
(C) OFUPMN (D) OFPUMN
(E)  Question not attempted / ?:ﬂﬂﬁﬁ EE

143  Ajay left his office and walked towards East for 5 km, and turned left and walked for 12 km to reach his home.
Rakesh who works in same office, left the office and walked towards West for 5 km and then turned left and walked
for 12 km to reach his home.
What is the shortest distance between home of Ajay and Rakesh?
(A) 34km (B) 26km
(C) 24km (D) 17km
(E)  Question not attempted
ST ST FHRITeRT DI SR e fewmm # 5 forelt =, ot o oi1g o g1 AT 310 o ag= o foae 12 fopeft e Trehen
ST 36t HrATerd H HH HAT R, ST FHrierd BiST I ufzm fawm 7 5 forrt =re S o g s fawm 1 et SR s10 =
T o o 12 Torwt =) 7oRT AT TrhaT o6 o 36 sfter 2l = gt 7 82

(A) 34 Tt (B) 26 Tt
(C) 24 ferlt (D) 17 et
() SAgdiayy

144 How many genotypes of the human ABO blood group are possible?
T ABO B o o fohe ST T% T (S{H1ET3Y) Sva 82
(A) 4 B) o
© 3 D) 8
(E)  Question not attempted / ?:ﬂﬂﬁﬁ EE
145 A pen is placed between two plane mirrors which are at right angle to each other. The number of images formed of

pen are:

&1 U GH o TIIed T T o sffe Tk O i T St 21 O oAt i i o de @
(A) 4 (B) 2

© 3 D) 5

(E)  Question not attempted / ?:ﬂﬂﬁﬁ EE
Al17 ] 88 30 [ P.T.O.



146  Given below are two statements:
Statement (I): The fuse is placed in parallel with the device in the circuit.
Statement (II): The fuse used in the electric circuit protects the appliances by allowing the flow of high current
through them.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (IT) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
AT (I): RIS 1, TR H, ST o TR T@T ST 2
A (11): Torre wftaer #, ST &1 ST RIS ST # § 3= forgld T 1 WalTfed ahish 3eh! Fret i 2l
ST FHHT o6 AT H, = fu 1 forenedt & & wafferes 3uge S |

(A) YA (1) IR HYT (1) SHT T B (B) &Y (I) IR YT (1) SHT & TeAd 2
(C) ¥ (1) e B, AfehT e (11) 3 R (D) YA (1) T T, AfhA T (1) T 2l
(E)  oFdia
147  Which of the following is an Azonal Soil group?
(A) Laterite soil (B)  Podzols soil
(C)  Lithosols soils (D)  Tundra soil
(E)  Question not attempted
frefarfad & & &1 € stewa 78T 99E 82
(A) e gt (B) i frgt
(©) ST (D) ggrEa
(E)  oFeia
148  Which of the following is a fresh water lake?
(A) Sambhar (B)  Udai Sagar
(C) Didwana (D)  Pachpadra
(E)  Question not attempted
frfafad & @ s € arem ot < e 22
(A) ER (B) IEHM
(C) feeamm (D) U=YE
(E)  oFeia
149 Rajaji Tiger Reserve is located in which of the following states?
(A)  Uttarakhand (B)  Rajasthan
(C)  Uttar Pradesh (D) Madhya Pradesh

(E)  Question not attempted

Frefeifad & & i 9 Usa § TSl 2R T g 22

(A) TGS (B)  TSEIH
(C) WY (D) T
(E)  oFdia
150 Sariska National Park is mainly famous for? (Choose the most appropriate option from below)
(A) Royal Bengal Tiger (B)  Asiatic Lion
(C) Indian Leopards (D)  Siberian Crane

(E)  Question not attempted

TR FerTet uTeh e e fore it &2 (Rt § & el suares s )

(A) T A 2ER (B) Rt e
(€) sl (D) T3S St
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